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Non-calculator
1)  Consider the cquationZH + == " writc X in tecrms of Y and H.
32 }
A. X= (_?I_Tf:ﬂ)z 2.
B. S —3}’4”3 E/S/ 2 "/Z— A /j/:/{H
© Y (-1-2H2)2 [ | x
) =( 3y‘H2) ™
(~H=-2H?)? : L. 207
@ ) Wy*HE 2 H

2) Given tﬂl nction f defined by f(x) = 4x? — 8x + 3, what arc the coordinatcs of it
@ 1)

,(

_ Y ,
B. (-1.15) ;V;—f = sz 192,,/
C. (2.3) o = =3 WL - / .
D. (-2-35) 7L2 Ccs %’V,‘eﬁe)‘ i:;i/‘%
e ’2’2_:() ﬂbyfﬁéa
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3) If y>3m which of the following is truc>

A. y>3
_
y>4 y> >
D. y<4
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4) V2 +4-3=x+4
Which of the following is the solution of the cquation above?
45 p _ .
_ % =)
@ ! 4 (7&2* 7 :(1 :
B. x= —— ” (A)00 * (’:Dl
45 z = pkE
14 7( =5 .8
C.X—E 1+/q7(-/-”{c(
Y I
7[5 x= = i\/f
14 Y = /Y x + Y9
"‘/b/,é 5%%
v

5)  Which of the following cquations is represented in the
oraph above?
A yvV=(X-2)(x43)(x11)
B. y=x(x1 1)(x-2)
C7 y= (x1.2)(x-3)(x-1)
D. y=(x-2)(x-3)x411)

‘K

(7(#?3 C’)(“7> (7( ‘25)

. N
6) 2a+3(4a-5)+2=3(a+3)

Solve the cquation above for a.

a2 T —

C. a=4 e B

P a=11 WA =
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7) which of the following is/arc not a solution for |2x-1[>3? e e §
>(7Q [. =-2 I) /2(/2> -\ | ’(_Z) 2(2>" \ -
IL. X=0 g1 | l )l <5
L X=2 | ™ _xx<s
B, P5g A K 3 73 x| >5 )
+A. Tonly > 4 < -5
B. II only

€. TandII
@II and II1

8) In this figurc, the radius of the circle 1s 3 em, and the minor arc AB has a length of 27)cm.

What 1s the mecasurc of angle AOB? (figurc 1s not drawn to scalc)

A. 60° Fort Vo et

=<8
9) If x=2a. an a=—i,\'hat 18 the valuc of 2x4 5?
A 1 i
@ 4 QC’T?(,
D. 8 7
-1
Y
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10) Given the linc with cquation Sy-3(x-2)= -1. which of thec following statcments is truc?
A. The slopc of the linc 1s 3/5 and the linc is decrcasing. W o WK H‘i

By The slopce of the linc is -3/5 and the linc is deercasing. ,

-~ ) =i
@ The slope of the line is 3/5 and the linc 1@@ o ;2
. The slope of the line 1s -3/5 and the line 1s increasing. 2 gt 4= / .
X
Gugh | v
-

- | welfmed

11)Ifi2 =1 . what is th@ofm 7i and 2 4 7i?
A. 14141
B 2 %%/’L\ ) _52 e ol |
C. 14i ol 1 (
(D> 24 14i

Q ,)——ML/

. . . . . /_\>
12) What 1s the slope of the lmc@crpcndlcugz\yo the linc of cquation 3y4 x=15?

>9K-1/3
et !5
@ 3 S
D. 6 )
i< g ;—3
O\

13)If x*=b®. and y=b? . then (xy)"* = _
P - % 2 ;

B B
Pé ll;""r b (b :
n B2 X° ( ;+5>'2

—

|2 ?XQ

/()j> L o= b

14) Given the function g defined by g(x)= 23X H6x4 1 . which of the following statcments 1s/arc truc?
X1.  The graph of g concaves upwards.

[I. The axis of symmectry of the graph is at the positive side of the x-axis.
[II. The graph of g rcaches a minimum valuc.

/>iA. [ only
@ [T only 2t () — GrGue “Poa),
</C. Tand III /\ Joun
D. LIL and III
s R R
T\ e,
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15) If f(x)\=bx--4 . and g(x) =\33x-1, then f(g(-2)) =

TN

16) In the figurc above. ABC is a right trianglc at B. such that AC = 16 em. if AB= AZ—C,, and m<A%3 =
X", then x= 0, A =12

(A) 30 B '
C. 60 770—7C> /\ X _ <. o

D. 75 = y °
% V3 IS ,/J -
=
C:Aa™+k? %S
a: [c% s
17) x+2y=-1

2xr;=)/+8

O ol The valuc of x that satisfics the system of cquations above is:

2 3"'/ — = —|
o A 1 - <N >®3ﬁ+\§\
B. 2 2x(2x - ) :3>7>/51;2_,:)5
OF -y
D. 4 5
>(:

18) The coefficient of the x term i the cxpansion of (2-3x\)(x24 4x41) 1s:

A 3 =
(B 3 o -5
CY

. 5%

D. 11
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